GOOL

SN0 Hravw2

nnvnnn muvw

NI2D1NN NIPXP1A] NI'NA NN MN2ON M?RY - 19 714

01Myn 101N

) S DYYHIN .1

www.gool.co.il

4—



19390 GWL PRI APAI AT PHASTR-FINY

NN NN NNAPN NMPXRY

:MONY
|f(2)|=In(2+]2])-w 72 B,(0)={|z] <1} -2 7p0ooax f no»p OND - (1

1zeB(0) 925

WNRYOVNIN @ 190N 01D 2 MM 0<|z| <o NY202 MOYOIX f(z) DN (2
2
[|f(Re”do<27R* :DYpIM R>0 929w 72 DY
0

Dyava f(z)=0 :>20M

279N /N0 (3

f (1} f (—lj = iﬁi3 -¥ 72 B, (0)-2 MWK f(z) M8pNa no»p
n n n n
.neN Y55
: YINI2 VYNNI DIINN 2{2 _'j :NONOIINT (4
=\ e’ +i
U ={zeClo<Im(z)<7]
V(x,y)=cosh[u(x,y)]-w T2 mdw f =u+iv 20 (5
ap f(z) 2 mom
279N /N0 (6
> Ka —01Z|a|<oo-\’)‘[:> 0=a,eC, {a,} , :MTO NP
n:l 2k +1 N
.VkeN
2z ©
zij e?0dg = :DYPIN teR 9399000 (7
T 0 n:O

WWW.GO0OL..CO.1I-5 193271 18T 910702 NN 1IN




10 D19y GWL YH97 1N NNTT DV NYYNUL
) N ¥

f (%) # ﬁ-\v T2 neN 0»P 2N . B (0)-2 MWIN f(z) 21 (8
+

T
J == Hmornnmrnawn @
s X +1

779N 7 NN (10

|z <1995 |27 f (z)+€7|<1-w 70 (2) NS PPN NOOP

:0”PNN N20 935V 70 0<|z|<2 Nyava WYX f(z) *D M (11
220 0P lim £ (2) 22w . § 2" f (2)dz =0

|zj=1

790 7/ NN (12

-1)"
.neN 93 f(%jz( n) -Y T DY f(z) MISPND NMP

:OYPNRN NNOY f Nn»p orn (13
{ﬁ xeR, x>0

—x* xeR, x<0

: DYNAN DOYON DY NY (14
lim |Log(z)|=c0 :%2 N .N

;;CO\(—UJ,O]
. lim |z-Log(z)|=0 >3 .2

Ze(C\(—oo,O]

z-Log(z z#0
12=0-1 PYNIKN f(z):{o 9(2) . :TPNPNON OND )
=

.

X
1L2dx :90PNN NN VN (15
+ X

o —38

0<|z-i|<2 nyava Y oo f(z)=

:TPNPNON NN NN (16

(22+1)4

WWW.GO0OL..CO.1l-5 103271 1T 910702 89N 1IN




10 D19y GWL YH97 1N NNTT DV NYYNUL
) N ¥

{f(z)="f(-z) :992) N 0<|z] <1 NYava MVX f(z) *2 N (17

@ f(z)dz :yawn

1
\Z\j

-¥ T2 neN 0»P NN . B, (0)-2 mvoN f(z) >0 ) (18
,fﬁ.f(i}ﬁi
n n+l) n

DO¥YNPNTIND f:B (0)>C >nn (19
.B,(0)-2a npuoN 2(z)-) £7(z) 22
.B,(0)-2a V2N f(z) »2 100N

779N 7 NN (20
B,(0)-2 nvdaN f°(z)~) £7(z) -1 NN XPNTIND f:B(0)—>C : DN

.B,(0)-2a mvoxnIoMa f(z) W

WWW.GO0OL..CO.1l-5 103271 1T 910702 89N 1IN




10.‘—1ﬂ<\

GWL YH97 1N NNTT DV NYYNUL
N ¥

Y0 MAVYD

NO (1
o (2
N0 (3
N0 (4
N0 (5
N0 (6
o (7
N0 (8

faos o ©
o X't sin(;j

.INoN (10

.NoN (11

N0 (12

JDMP N (13

NOD noN A .INOY LN (14

N

I 4= 7 s
!;1+x2 =2 (
) (_1)k+4(k+7)(k4.rf+)8(k+5) k>4
.a = 6(2i) (16
0 k<-5

. ¢ f(z)dz=27i-Res[ f(z),0]=0 (17
2=
DN (18
NN (19
DN (20

WWW.GO0OL..CO.1l-5 103271 1T 910702 89N 1IN




